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Quiz 16, Attempt 1
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Compute the outcome of the test statistic for the paired signed-rank test that could be used to assess the null hypothesis that differences are symmetric around zero. 



Quiz 14, Attempt 2
Certain airplane components failures may be classified as mechanical, electrical or otherwise.  Two airplane designs are under consideration, and it is desired to test the hypothesis that the type of failure is independent of the airplane design.  Find the p-value in terms of an appropriate distribution.
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73. Twelve pairs of twin male lambs were selected; diet plan T was given to one twin and diet
plan II to the other twin in each case. The weights at eight months were as follows.

Diet I: 111 102 90 110 108 125 99 12t 133 115 90 101
Diet11: 97 90 96 95 110 107 ‘85 7104 113 98 97 104
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